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Suppose a utility function is defined as U(l, €) = 2! +4C and the copsumer’s budget constraint is
C=w(l-0)+mn—T. C is consumptiSfr=i=ig*€isure fiemw=igthourly real wage, m is dividend

income, and T is the lump-sum tax. The total hours are normalized to 1. Assume © > T.

(1) (5 %) What is the marginal rate of substitution between | and C? (Let be on the x-axis)
(2) (10 %) If w equals 1 unit of consumption goods, what will be the optimal € and [?

Now suppose the government considers imposing a proportional tax t on wage income that will yield

he same revenue as the lump-sum tax scheme.
(3) (5 %) Write down the consumer’s budget constraint under a proportional tax scheme.

(4) (5 %) Explain why a competitive equilibrium is not Pareto optimal under a proportional tax scheme.




Basis A% 109 #£5 8 ALERTABES B4E4 KRR
# 2R-#£ 2R

# B A aax$ # A B BB A FRM2ATE(ER R =8

=154

A tea shop is in a monopolistically competitive market. The market demand facing the tea shop is given
by Q = 200 — 2p, where p is the price per cup of tea. Suppose the tea shop's total fixed cost is $2,000
a day. The tea shop's average variable cost and marginal cost are a constant $30 per cup.

(1) (5 %) What is the tea shop's profit-maximizing price?

(2) (5 %) What is the tea shop's price markup?

(3) (5 %) What is the tea shop's maximum economic profit?
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Suppose the market demand for T-shirts in country Ais defined as Q = 90 — 10p, where p is the price

per T-shirt. T-shirts are supplied by firms in country A and firms in country'B. Assume that in each
ountry there are 10 firms in the T-shirt industry that behave competitively and have an identical cost
unction given by c(q) =¢?/2, where g represents the T-shirts\produced by each firm.

(1) (5 %) What are the equilibrium price and quantity of T-shirts sold?

(2) (5 %) Now suppose country A imposes a $3 tariff on T-shirts imported from country B. What is the

new price of a T-shirt paid by'the eonsumers in country A? What is the new quantity of T-shirts sold?

(3) (5 %) How many T-shirts are imported, from country B after.the $3 tariff is imposed?

(4) (5 4-) How many T-shirts are supplied by the.fitms.in-country A after the $3 tariff is imposed?
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